SkbrV BK

DM-lag IAF match 8

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poadng Namn MID Klubb
1 13 2.78 Pierre Carbonnier - Hakan Tjarnemo 5538 5534  LUCK
2 19 2.48 Thomas Andersson - David Probert 15537 3990 Malmo BK
3 5 2.47 Hans Olsson - Bengt Palsson 13278 6272 Malmo BK
4 10 1.94 Carsten Kofoed - Mats Ellemark 5868 18678  Kristianstads BK
5 7 1.88 Anders Freij - Bengt Emanuelsson 5548 4620 LUCK
6 4 0.91 Mats Pettersson - Borje Dahlberg 5587 4744 BK Lavec - Malmo BK
7 1 0.64 Fredrik Jarlvik - Jan Becklén 4451 20525 Malmod BK
8 3 0.27 Hans-Olof Hallén - Perry Sjoberg 9896 5775 Malmd BK
9 9 0.26 Kenneth Osterberg - Per-Erik Pettersson 4700 10690 Hassleholms BK
10 15 0.24 Andreas Kdnyves - Yan Leger 4590 4582  LUCK
11 6 -0.24 Osten Svantesson - Mats Holm 5765 4537 Videdals BK
12 12 -0.26 Christer Winther - Lars-Goran Niklasson 4583 11361 LUCK
13 18 -0.27 Mats Nilsland - Per-Inge Helmertz 4773 1322 Malmo BK - Kullabygdens BK
14 20 -0.64 Eva-Liss Gothe - Hans Gothe 5285 9054 BK Bridgehuset
15 17 -0.91 Ronny Bengtzon - Lars Durlow 1107 6337 Malmo BK
16 14 -1.88 Jan Nilsson - Lars-Ake Nilsson 4501 12667 HOors BK - Hassleholms BK
17 11 -1.94 Dan Nilsson - Tommy Kellander 5967 14354  Videdals BK - BK Zonen
18 16 -2.47 Michael Olsson - Klas Bellander 5768 4541  Videdals BK
19 2 -2.48 Sven-Olov Flodgvist - Mats Berggren 9027 5549  BK Bridgehuset
20 8 -2.78 Simon Nilsson - Viktor Andréasson 85753 89902  HOoors BK
13 « EKn98642 14 4 K3 15 & EKn4
Nord vK Ost vK9754 Syd v DKn1097
Alla ¢ 107 Ingen *72 NS + K3
#K85 &E1087 #876
4 K10 4 D73 4105 & EKn64 4D10752 498
v 8765 v DKn2 vKnl10862 vD3 vE4 v52
+ K32 + Kn964 + K954 + Kn863 ¢+ 107642 ¢ DKn
#DKn106 #E43 #Kn5 *K92 &5 #DKn109432
a5 4 D9872 4 K63
v E10943 vE v K863
+ ED85 ¢+ ED10 ¢ E985
#972 D643 #EK
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
11 10 34 N= «A 140 210 -21.0|11 10 2vDV-2 ¢7 300 570 -57.0|13 8 44DV-7 vQ 1700 105.0 -105.0
318 24 N= vQ 110 11.0 -11.0(19 2 34S+1 vJ 130 17.0 -17.0(15 6 6v N= «Q 1430 71.0 -71.0
4 17 24 S= vQ 110 11.0 -11.0| 3 18 INN+1 44 120 15.0 -15.0(19 2 6v S= ¢4 1430 71.0 -71.0
9 12 24 N= ¢4 110 11.0 -11.0(14 7 2NS= +5 120 150 -150(20 1 6v S= «5 1430 710 -71.0
13 8 24 N= ¢6 110 11.0 -11.0(13 8 2v N= 46 110 10.0 -10.0| 3 18 4v S+2 &5 680 -53.0 53.0
14 7 24 N= ¢5 110 11.0 -11.0(15 6 34 S= vJ 110 10.0 -10.0| 4 17 4v S+2 &5 680 -53.0 53.0
15 6 24 N= +3 110 11.0 -11.0| 4 17 3NN-1 3 -50 -31.0 31.0| 9 12 4vy N+2 4«9 680 -53.0 53.0
20 1 24 N= ¢6 110 11.0 -11.0| 9 12 2¢ N-1 &2 -50 -31.0 31.0(11 10 4vy N+2 ¢J 680 -53.0 53.0
16 5 3¢ N-1 vQ -100 -38.0 38.0(16 5 3NS-1 ¥2 50 -31.0 31.0(14 7 4vy S+2 &5 680 -53.0 53.0
19 2 44 N-2 vQ 200 -60.0 60.0(20 1 3NS-1 +¢5 -50 -31.0 31.0(16 5 4vy N+2 4«9 680 -53.0 53.0
16 « D87 17 « DKn10 18 4 K4
Vast v 10973 Nord vKn7 Ost v 9864
oV ¢ 108 Ingen + Kn108763 NS ¢+ E84
#KKn43 »65 & EKKn5
4 KKnl1043 «E6 4K973 462 «DKn82 #E9%
v 8654 v EKn2 v EK9 v 10862 v EK2 vD105
4972 ¢ EKn6543 92 ¢ EK + KD5 41063
»5 #E10 #10732 &KDKn84 »876 #10942
4952 « E854 10753
v KD v D543 vKn73
+KD + D54 ¢ Kn972
#D98762 &E9 &D3
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
318 3NO-2 &7 200 78.0 -78.0|11 10 3NV-3 ¢J 150 56.0 -56.0|13 8 2v N= +3 110 41.0 -41.0
20 1 3NO-2 #8 200 780 -78.0(19 2 2¢ N= &K 90 440 -44.00|16 5 INV-2 v9 100 41.0 -41.0
4 17 3¢ O+2 &8 -150 9.0 90| 4 17 3¢ N-2 &K -100 -5.0 50| 318 INV-1 &A 50 28.0 -28.0
15 6 3¢ O+2 &6 -150 9.0 -9.0|13 8 24 V= *J -110 -5.0 50|15 6 INV= v9 -90 -9.0 9.0
13 8 34 V+l &4 -170 0.0 00| 912 3#0+1 ¢4 -130  -15.0 15.0(19 2 INV= v9 -90 -9.0 9.0
14 7 26 V+4 T -170 0.0 00(14 7 3#0+1 5 -130  -15.0 150(20 1 INV= *A -90 -9.0 9.0
16 5 24 V+2 T -170 0.0 00|15 6 3#0+1 5 -130  -15.0 15.0| 9 12 2NN-1 &3 -100  -10.0 10.0
19 2 34 V+1 &3 -170 0.0 00[(16 5 3«0+l ¢4 -130  -15.0 15.0(11 10 INV+1 &A -120  -19.0 19.0
11 10 44 V= &K -620 -850 85020 1 3#0+1 v4 -130  -15.0 15.0(14 7 INV+1 49 -120  -19.0 19.0
912 44 V+1 T -650 -89.0 89.0| 318 1vO+2 +3 -140 -15.0 15.0( 4 17 INDV= &A -180 -35.0 35.0
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19 43 20 106 21 495
Syd v K62 Vast vD1072 Nord v Kn9873
oV ¢ 43 Alla ¢ EKn95 NS ¢+ Kn43
#KDKn10987 K92 D109
& EKn42 a- « E9753 4 DKn42 483 « DKn764
v 943 v EDKn85 vEKNn93 v54 vE102 D6
¢ EKn1086 ¢ KD975 ¢ K108 ¢ 742 4652 + K87
»3 #E52 &7 #6543 #87652 #EKn3
« KD1098765 K8 « EK102
v 107 v K86 v K54
2 + D63 + ED109
64 #EDKn108 K4
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
4 17 44DS-3 #3 -500 830 -830| 4 17 3NS+1 43 630 46.0 -46.0| 3 18 4vDN+1 v6 990 93.0 -93.0
11 10 5¢ V+2 43 -640 640 -640| 9 12 3NS+1 46 630 46.0 -46.0|20 1 4vy N+1 v6 650 34.0 -34.0
13 8 5¢ V+2 &K -640 640 -640(19 2 3NS+1 43 630 46.0 -46.0| 4 17 3NS+1 &8 630 26.0 -26.0
19 2 5¢ V+2 43 -640 640 -640(20 1 3NS+1 43 630 46.0 -46.0|13 8 4y N= «Q 620 240 -24.0
9 12 3NV+2 &Q -660 55.0 -55.0|13 8 3NS= 43 600 380 -38.0|15 6 4y N= 4Q 620 240 -24.0
318 6¢ V+1 43 -1390 -56.0 56.0{14 7 3NS-= 5 600 380 -38.0(|19 2 4y N= 3 620 240 -24.0
15 6 64 V+1 #K -1390 -56.0 56.0( 3 18 2NS+2 43 180 -47.0 47.0| 9 12 3NS= 3 600 18.0 -18.0
16 5 64 O+1 4K -1390 -56.0 56.0(15 6 4#S-= aA 130 -59.0 59.0|16 5 2v S+3 48 200 -55.0 55.0
20 1 64 O+1 &K -1390 -56.0 56.0(16 5 24V-1 v7 100 -64.0 64.0|11 10 2NS-1 3 -100  -94.0 94.0
14 7 64DV +1 #K -1740 -106.0 106.0 (11 10 24 V= oT -110  -90.0 90.0(14 7 4vy N-1 «Q -100 -94.0 94.0
22 D43 23 a2 24 «E84
Ost v DKn2 Syd v K963 Vast vD10654
oV ¢ E764 Alla 4752 Ingen +9
#Kn96 &#EK752 *K432
a- » Kn9765 & KKn « E9873 « DKn97653 410
vEK108753 v4 v 842 v EDKn v8 v KKn3
+ D982 + Knl0 ¢+ KKn963 ¢ D4 + K1084 + EDKn63
D2 #K10843 +D98 #Kn64 *9 #DKn108
« EK1082 « D10654 & K2
v 96 v 1075 vE972
¢ K53 ¢ E108 ¢ 752
&E75 #103 #E765
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
9 12 4vDV-1 4Q 200 80.0 -80.0|19 2 34DO-1 v2 200 78.0 -78.0( 9 12 34 V-1 ¢9 50 13.0 -13.0
4 17 24 S= vA 110 62.0 -62.0|15 6 2¢ V= a2 -90 170 -17.0(11 10 34 V-1 ¢9 50 13.0 -13.0
318 44 S-2 ©vA -100 240 -240|16 5 2¢ V= a2 -90 170 -17.0(13 8 44 V-1 ¢9 50 13.0 -13.0
13 8 44 S-2 ©vA -100 240 -240| 4 17 24 O=  &T -110 110 -11.0|15 6 34 V-1 ¢9 50 13.0 -13.0
14 7 34 S-2 vK -100 240 -240(14 7 24 O=  &T -110 11.0 -11.0(16 5 34 V-1 +¢9 50 13.0 -13.0
15 6 3v V= 43 -140 13.0 -13.0(13 8 INV+1l &2 -120 8.0 -8.0(19 2 34V-1 ¢9 50 13.0 -13.0
19 2 44 S-3 v6 -150 10.0 -10.0| 9 12 2¢ V+2 42 -130 6.0 -6.0(20 1 44 V-1 9 50 13.0 -13.0
16 5 44DS-3 vA -500 -55.0 55.0| 318 INV+3 3 -180 -8.0 80| 417 3vy N-1 #Q -50 -15.0 15.0
11 10 3vyDV= &3 -730  -91.0 91.0|11 10 24D N-1 #4A -200  -120 12.0| 3 18 34 V= +9 -140 -38.0 38.0
20 1 3vyDV= 4Q -730 -91.0 91.0(20 1 2¢DS-4 ¥v3 -1100 -128.0 128.0(14 7 34 O= v5 -140 -38.0 38.0
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